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Problem B

Broken Watch

Input File: standard input
Output File: standard output
Time Limit: 0.2 seconds (C/C++)
Memory Limit: 256 megabytes

A UFO crash lands on Earth. The alien captain survives the crash relatively unscathed; however his trusty watch is
damaged beyond repair.

The alien watch is very similar to a human watch: It is a disc 30mm in diameter and it has three hands of lengths A,
B and C microns (1000 ≤ A,B,C ≤ 15000). However, the aliens measure time differently: there are N (2 ≤ N < 232)
alien seconds to an alien minute. As such, there are N markings on the edge of the disc, rather than 60.

The watch’s glass cover is broken and the hands have come loose: they can rotate freely and independently of one
another. By pointing each of the hands at an arbitrary marking, their tips can be made to form an imaginary triangle (as
long as they are non-collinear).

Having nothing left to do but wait for help to arrive, the alien ponders the following question: What is the number M
of distinct triangles that contain the watch’s center? (Triangles where the center lies on one of the edges of the triangle
count as well.)

Input

The input consists of A, B, C, and N on a single line, separated by whitespace.

Output

The output is M modulo 264.

Sample input Sample output
15000 15000 15000 2 0

5000 10000 15000 3 6

15000 15000 15000 3 1

15000 15000 15000 4 4

15000 15000 15000 5 5

15000 15000 15000 6 14
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